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1. Looking at the representation below, which of these statements are true?

313 - 208

hundreds

tens

ones

|

=

2. Looking at the representation below, which of these statements are true?

424 - 352

hundreds

tens

ones

1

3. Looking at the representation below, which of these statements are true?

273 - 182

hundreds

ones

J

Date:

Tick the boxes next to ALL correct answers

(]2 exchanges needed.
[J 115is the answer.
(] 105 s the answer.
U 010sin the answer.

D 1 exchange needed.

Tick the boxes next to ALL correct answers

[ No 100s in the answer.
(] The answer is 132.

(] The answer has 3 10s.
U The answer is 72.

D 7 10s in the answer.

Tick the boxes next to ALL correct answers

No 100s in the answer.
No 10s in the answer.
The answer is < 100.

The answeris 111.

Oo0ogod

The answer is 91.



